YIAD XUE
SHU YUE
LNNICE gl

TE: aiﬁzm

L._l.- %tﬂﬁ

| gl

2




2w LR

% 3 — O A __°H E¥M __
1. ONX.
234+ 4= 38+5= 27+13=
45.-8:=- 26—_—9= 52 --21=
47+8=- 62+3= B2+ 18=x
T1—-5= 59 -7 = 75—26=
2. me,
- D—RAEER ( )
P/ R )
= R AARE IR ( )a
- @RRE RS BR(C i, BREC )
AR i, R . %
=R« YL, AR e’

3. TR 1A 245 BIBRX S, ARMEERTEN
rf R,

" | S



A BTESKESRAXELMNIN,

14%=( }J 3 1H%=
1 %R =( )3 3 63/ k=
9 /K =( % mEK=
5. ETENESARNBLRNME,
7
1 *Bﬂﬁ—, B iF 3]
ot 19 .
1k 00" B1E( ¥ 3
84 R
1 *miﬂﬂﬂ, 51k 5
& 3 - @ __A_ .
1. N,
78 +3= 87 729=
98 -‘ 9= 564 14=
86+4= 83+ 17=
2. RHTEA MY,
BR—E( ) AKRIZRE (
- 2

¢ ¥k
( >k
( 3.3
B OEM___
75+ 25=
68 172=
64+ 36=
)



PEE= ( ) —BEZR ( )

+HET ( ) ZHNARRE (
ZFREN ( ) H+AEER ( )
. A=, _
LT WA )
Wapsec > lausee
1040, 1R« ) 0.8 ELTE A ( 340,01
- BEBSHITHENNGEEKRIRC ). (),
C D O e
PEBSRTHBBMNEFE KRR ),
( o o« Jrueeen
EEREBLANE,
[]
. s 10PN BT S EMNT LML,
&
.3

>



& 3 = A8 BE¥Wm___

. u'u
14 x10= 14X100= 1 X 1000=
4600+10= 4600 + 160= 1000 -~ 100 =
99 X 101 = 78 X 99 = 730+10=

. ITEH#NR, PEMBBETE.
4.08%=1.8% 0.0230=0.23

. BRERN, IRTEHKES B RGN,

43N BHEX 6 %5 Mg
20K 7 %k A K
TR AN,
80.00 0.503 116.0 1.607
0.008 50.30 2. 040 0.0900

. FREMEK N, BTEHNRE R DWW RPN,

7.4 _ ) 19« 2

o 40



0.04 ¢ ) 8.72 ( )
0.1 ( ) 134 ( )
30 ¢ ) 50.5 ¢ )

8. BTHSENPEBOAILY, HREEEE,

20.2 202 16.00 16.0 0.1 0.100

100 1.00 4.0 0.40  25.0  25.000
& 3 = - A__°d B#___

1. o, |

TX10= 17 < 100= TOXK10=

2X10= 23109 = 2 X 1900 =

10000+ 10= 10000+ 100 = 10000 +10=

2. 1000.0001K:( ) 1940.001 ¢ )

10440. 01 8¢ ) 1040, 1:8( )

3. RETENEIHITBBAKX/),

56 A4.85% B.7XF8.67kK

2,098 2. 18K 4,05 FF 10 4052 Fv

N



4. EOERE >" R ‘< 88,

1.08()0.89 7.410)7.14
1.901()1.91 2.999()3.001
8.01()80.1 0.909()9.09
78.9()78.94 5.72()5.712

5. 2T & B IR AN I B K 8 M R HE B R K,
0.8 1.08 1.078 0.087 0.978

6. RREITIERE, ESBHARUT.
—4EK98.75r  TUEL895.94  =4ELK89.54)
PUAEER96.054r  FAELK89.094>

HiF 1 8 0 £
% 3 m® __ A8 Em__
1 OX,
32x10= 32X100= 32 X 1000 =
450+10= 4500+ 100= 4500+10=
100X 10X 10= 1000+ 100+10= "



. TENNEZRIR ETASDHE

0.6 §-K( Y 5.46 ¥ K( M
8.025 4K ( M 28.07 HKk( ME
. FTENN, M EATBINANOEPNED, FSRMDHE
4.6 %/ & 30.21 #/( L
910 45/ ( B 19.02 84N My
. MTENE.
(0425 7.8 | 0.5 | 0.089
Fx10% j |
¥ K1004% : !
JrklOBO

. HESHTE&ANBH.

9.34%x10= 0.13x100=  0.004x1000=
% 3 @ A _H EBE#H____
. BITESNR,
#2107 50 | 0.3
____m_,_l__ | _
5110042 | |
B 1100045 | 1| o




[

. NERHTEREANRN,
61.8+10= T468 -+ 1000 ==
7.59+100== 85+ 100 =
. X,
6.178" K ( M RRTLT
12. 445 M IR0 124y
0.003F" K ( MER30,

ORI AR F R K 5.24 B S AE MR R XA

M104%, SEHT S DA

AUF B0 AT . B 5 AR A0  Bb. ) file— NP
MEHTFHERS P v

3 52 ©®© __A__ 8B RB#__
2} W

18.22x10= 7.9x10= 147+ 1000=
g o



56+ 1000= 24.1+100= 0.08 Xx1008=

9.04+100= 3.75%10= 4.05+10=
. ETHETRANTHENN,
7% =( ) K 4 Ny =( X-A

DS Ak=(  OEK  2MMAR=( AR
673 HL508 K = ( Pk SEKORAk=( K

. ETENESARNEHAY.
8.54% =( YK 2.65K=( YOk
0.3 B =( YK 9. 45K =( Yk
0.7 = ( VAR 3,694 )7 =( by
1. 2)8 K = ( YEX 4,73 B=( b2 S

RTEENENBNSHRARMEROHN,
ORRERR0. 4534,
DREHRAMTFHARTLAR,
@HEHRBHHRET. 257 47,

* 8



% 3 E ® __A_H E#
{. ETENES2MEESHE,
1450k = ( YA H( )k
4348 E=(  )AH( )k
2,062 =< YARC )&
8.4 =( LN VAR

2. EORAL > & ‘< HE,
4.0356( ) 456 3 fh
2.8 (12 AN81%
7.04k() 7 K 4 H K 8 ER
6 mi52028 F ()6. 0520

8. 4.787m=C (.  DHAC
20740 Fr=C  )AR( )3

3.8R=( YR( )F 8.5f=( Yi( YH

-

ETEONRERAXEMOBFHES,

1.548 900k 54 2.65H

« 10 -



% 33 A ©® _A__ 8B EM__
1. ETEASRALELNN,

27K =( 3 14¥ K =( »k
607K =( VAR 40281 =( Y
521 R =( - 7.3 470574 =( YR
1£3:% ¢ Yo K 80404 fT =( Y

2, ETENESRERLBELSNN,
343K 4 Hk=( IPHE S S1: b S R
9 S B500K =( I 5 JC 4 fi=( i
6 A EB0K=( YAH 15 nfr=C g
8. 1 EHAHEMLIET20%, EFPNT?

@ 1 BBt EFTR850K, AP AR?

@lﬁiﬁnrﬁtﬁw'ﬁﬁuewﬁ, &xLAR?

+ 11 »



3 XA ® _A_°B BEW__
1. ETENESAR SN0,
$%k=C HR 3 B=( s
BF=C HARK SR =( )k
2, ETHNESEM LIS LON,

AE&BRF B SRR
T ”,T_____"__h__f___ PR
| xC ORC s | dure
BT T R
TR YR TV R

3 BTHNUXERA 7" ERLnM,

84700 12030

1809000

4. OEFYSELTEH, Bk CRRR 22000 4FF, %5 RA

AN SR GA%,

@184587500000, 3214000000, 34080000085 &M “I2" @K

Bk,

.18.



Bess © __A_ 8B BEM___
1. ON,

4X100= 67.254 +10== 33.81210=
4-+-100= 14.08+100= 0.05x1000=
8 X 1000+1000= 0.78 x10%100=

2. ETRSHEBENLELHNN.

2 -**-[i s l\ fou | i6 | To05" El—?m“
SO §| l! 0.85 : | o.esaé 0.13
3. AL,
21 ORI R 0048, AX26H R ( bE N
0. 8414 B AR )y EH( ) AN REAT B 04
O VARIFEEMRC ) EFC OADXEERRRL,
SZHREBLHEEF( ) THRIE k% )
PR S Jumt= § ¢ ) NENARETGHC )
4. BRAXEDSOFESENTEEN.
0.5 0¢.504 0.45 0.54 0.045

913-



5. ZOEW “x” W “+" , EFESERLEHHN.
250()( )=0.25 0.03()¢ )=30

0.37()¢ )=3.7 40.9()¢ )=0.409
6. EEEHTEEXNAR.

6.3 X10= 0.4x100= 0.025X1000=

351.5+10= 6+100= 57.4+1000=

1. 0.7ui 50.70Mi &S At 4

2e%3 @ __ A _8B ER___
1. ON.
7x100+1000= 0.7 X 1000+ 100=
4.05%x10+100= 5100 X 1000=
7.03+100X10= 5.73X10+100=
2 EFESERLELNG,
O83E k= ( 133 1007 5 =( AR
@0.575E=( L5 10. 50 =¢( VAT
1.68 4B =( P S 4.01k=( YE %

e 14



@I AR =( VAR 3MES0AT=( g
1055 3 f 2 = ( VT 6k 4 EXR=( F S
@5.06 82=( )ANE( I S
20.5%k=C( 2K« 5y R

7.054 Fr=( YAF( 3

®2087300=( YA 7040000000=( Mz
67000004 B =( YHAR
340685075 T = ( MR
165.7 J5 i = ( i 0.43{28=( Vi
8. 540.01H1 8 4~0.001 25 FRAY /N BT Yo
1240, 1 2 ) 1534001 J&( Yo

0.38 B Hi( )AM0. 18I Y0, 01 LR IRAY

4. JeRuEBE R AT 300000 A, MEMBRBIABRERLN
.

5. RTEANMEERLNBAHEFEETRE,
5.018§ 5 W17 4 )T 60§ 9 /AfF  5.0091Bf

e 15 »



= Ny

3 t O __A__ 8 &M
1. oN,

144-5= 17 4-9= 164 8=
1546= 26+7= 3847 =
It—4= 13-5= 16—9=
27T —-8= 36—-0= 13—7 =
97 —36—54= 16+ 21460 =

2. HEAUNTHEN,

61.2+2.5= 13.024-0.73=

19.7485.25= 12.563+701.437 =



